

SOME MEASURE THEORETIC ASPECTS OF STEFFENSEN'S AND REVERSED STEFFENSEN'S INEQUALITY

JULIJE JAKŠETIĆ, JOSIP PEČARIĆ AND KSENIJA SMOLJAK KALAMIR

(Communicated by A. Aglić Aljinović)

Abstract. We find necessary and sufficient conditions for Steffensen's and inverse Steffensen's inequality in measure theoretic settings. We also explain natural transition from the Riemann integral in Steffensen's inequality to an integral with measure.

1. Introduction and preliminary results

In 1918 Steffensen proved the following inequality, [15]:

THEOREM 1.1. Suppose that f is nonincreasing and g is integrable on [a,b] with $0 \le g \le 1$ and

$$\lambda = \int_{a}^{b} g(t)dt. \tag{1.1}$$

Then we have

$$\int_{b-\lambda}^{b} f(t)dt \leqslant \int_{a}^{b} f(t)g(t)dt \leqslant \int_{a}^{a+\lambda} f(t)dt.$$
 (1.2)

Measure theoretic aspect of Steffensen's inequality has long and interesting history. In order to generalize result from [10] for higher order convexity version of Steffensen's inequality, Fink introduced in [3] an auxiliary classes of functions, and gave necessary and sufficient conditions for Steffensen's inequality in measure theoretic environment. In his paper, he replaced the middle integral in (1.2) with integral with respect to regular Borel measure, and expressed edge integrals in (1.2) via Lebesgue measure. Evard and Gauchman in [2, 4] and [5] extended Steffensen's inequality to a more general version replacing line segment [a,b] with a general set X, with measure concentrated on it, and replacing $[b-\lambda,b]$ and $[a,a+\lambda]$ with measurable, upper and lower separating, subsets U, V of X, giving sufficient conditions for Steffensen's inequality in that setting.

Mathematics subject classification (2010): Primary 26D15; Secondary 26D20. Keywords and phrases: Steffensen's inequality, reversed Steffensen's inequality, measure theory.



Our starting point for generalization of Steffensen's inequality is one observation in [11] (see also [14, p. 15]) where it is pointed out that (1.2) follows from the following two identities (assuming that (1.1) holds):

$$\int_{a}^{a+\lambda} f(t)dt - \int_{a}^{b} f(t)g(t)dt$$

$$= \int_{a}^{a+\lambda} [f(t) - f(a+\lambda)][1 - g(t)]dt + \int_{a+\lambda}^{b} [f(a+\lambda) - f(t)]g(t)dt \qquad (1.3)$$

and

$$\int_{a}^{b} f(t)g(t)dt - \int_{b-\lambda}^{b} f(t)dt
= \int_{a}^{b-\lambda} [f(t) - f(b-\lambda)]g(t)dt + \int_{b-\lambda}^{b} [f(b-\lambda) - f(t)][1 - g(t)]dt.$$
(1.4)

The full impact of (1.3) and (1.4) on characterization of Steffensen's inequality can be found in [13, p. 183–186] and summarized in the following three theorems.

THEOREM 1.2. Let f and g be integrable functions on [a,b] and let $\lambda = \int_a^b g(t)dt$.

(a) The second inequality in (1.2) holds for every nonincreasing function f if and only if

$$\int_{a}^{x} g(t)dt \leqslant x - a \text{ and } \int_{x}^{b} g(t)dt \geqslant 0, \text{ for every } x \in [a,b].$$

(b) The first inequality in (1.2) holds for every nonincreasing function f if and only if

$$\int_{x}^{b} g(t)dt \leq b - x \text{ and } \int_{a}^{x} g(t)dt \geq 0, \text{ for every } x \in [a,b].$$

Using identities (1.3) and (1.4) and integration by parts, Pečarić in [12] also proved converse results.

THEOREM 1.3. Let $f: I \to \mathbb{R}$, $g: [a,b] \to \mathbb{R}$ ($[a,b] \subseteq I$ where I is an interval in \mathbb{R}) be integrable functions, and $a + \lambda \in I$ where λ is given by (1.1). Then

$$\int_{a}^{a+\lambda} f(t)dt \leqslant \int_{a}^{b} f(t)g(t)dt$$

holds for every nonincreasing function f if and only if

$$\int_{a}^{x} g(t)dt \geqslant x - a, \text{ for } x \in [a, a + \lambda] \quad \text{ and } \quad \int_{x}^{b} g(t)dt \leqslant 0, \text{ for } x \in (a + \lambda, b],$$

and $0 \leqslant \lambda \leqslant b - a$;

or

$$\int_{a}^{x} g(t)dt \geqslant x - a, \quad for \ x \in [a, b],$$

and $\lambda > b - a$;

or

$$\int_{x}^{b} g(t)dt \leqslant 0, \quad for \ x \in [a,b]$$

and $\lambda < 0$.

THEOREM 1.4. Let $f: I \to \mathbb{R}$, $g: [a,b] \to \mathbb{R}$ ($[a,b] \subseteq I$ where I is an interval in \mathbb{R}) be integrable functions, and $b - \lambda \in I$ where λ is given by (1.1). Then

$$\int_{b-\lambda}^{b} f(t)dt \geqslant \int_{a}^{b} f(t)g(t)dt$$

holds for every nonincreasing function f if and only if

$$\int_{a}^{x} g(t)dt \leq 0, \text{ for } x \in [a, b - \lambda] \quad \text{ and } \quad \int_{x}^{b} g(t)dt \geqslant b - x, \quad \text{ for } x \in (b - \lambda, b],$$

and $0 \leqslant \lambda \leqslant b - a$;

or

$$\int_{x}^{b} g(t)dt \geqslant b - x, \quad for \ x \in [a,b],$$

and $\lambda > b - a$;

or

$$\int_{-\infty}^{x} g(t)dt \leqslant 0, \quad for \ x \in [a,b]$$

and $\lambda < 0$.

The next two theorems from [8], with sufficient conditions, we will need in the main section.

THEOREM 1.5. Let μ be a positive, finite, measure on $\mathcal{B}([a,b])$ and let f and g be measurable functions such that f is nonincreasing and $0 \le g \le 1$. If there exists $\lambda \in \mathbb{R}_+$ such that

$$\mu([a, a+\lambda]) = \int_{[a,b]} g(t)d\mu(t), \tag{1.5}$$

then

$$\int_{[a,a+\lambda]} f(t)d\mu(t) \geqslant \int_{[a,b]} f(t)g(t)d\mu(t). \tag{1.6}$$

THEOREM 1.6. Let μ be a positive, finite, measure on $\mathcal{B}([a,b])$ and let f and g be measurable functions such that f is nonincreasing and $0 \le g \le 1$. If there exists $\lambda \in \mathbb{R}_+$ such that

$$\mu((b-\lambda,b]) = \int_{[a,b]} g(t)d\mu(t),$$

then

$$\int_{(b-\lambda,b]} f(t)d\mu(t) \leqslant \int_{[a,b]} f(t)g(t)d\mu(t).$$

2. Main results

The aim of this section is to find analogous results of Theorems 1.2, 1.3 and 1.4 in measure theoretic settings. Integration by parts, used there, is what we want to avoid in our measure theoretic approach so our assumptions on the function f are just slightly changed.

2.1. Sufficient and necessary conditions for Steffensen's inequality

THEOREM 2.1. Let μ be a finite, positive measure on $\mathscr{B}([a,b])$, let $g:[a,b]\to\mathbb{R}$ be a μ -integrable function.

(a) Let λ be a positive constant such that $\mu([a,a+\lambda]) = \int_{[a,b]} g(t)d\mu(t)$. The inequality

$$\int_{[a,b]} f(t)g(t)d\mu(t) \leqslant \int_{[a,a+\lambda]} f(t)d\mu(t)$$
 (2.1)

holds for every nonincreasing, right-continuous function $f:[a,b] \to \mathbb{R}$ if and only if

$$\int\limits_{[a,x)}g(t)d\mu(t)\leqslant \mu([a,x))\quad and\quad \int\limits_{[x,b]}g(t)d\mu(t)\geqslant 0,\quad for\ every\ x\in [a,b]. \eqno(2.2)$$

(b) Let λ be a positive constant such that $\mu((b-\lambda,b]) = \int_{[a,b]} g(t) d\mu(t)$. The inequality

$$\int_{(b-\lambda,b]} f(t)d\mu(t) \leqslant \int_{[a,b]} f(t)g(t)d\mu(t)$$

holds for every nonincreasing, right-continuous function $f:[a,b] \to \mathbb{R}$ if and only if

$$\int\limits_{[x,b]} g(t)d\mu(t) \leqslant \mu([x,b]) \quad and \quad \int\limits_{[a,x)} g(t)d\mu(t) \geqslant 0, \quad \textit{for every } x \in [a,b].$$

Proof.

(a) For the sufficiency part we use the identity

$$\begin{split} &\int_{[a,a+\lambda]} f(t) d\mu(t) - \int_{[a,b]} f(t) g(t) d\mu(t) \\ &= \int_{[a,a+\lambda]} [f(t) - f(a+\lambda)] [1 - g(t)] d\mu(t) + \int_{(a+\lambda,b]} [f(a+\lambda) - f(t)] g(t) d\mu(t) \end{split} \tag{2.3}$$

similar to (1.3). We define a new measure v on σ -algebra $\mathcal{B}((a,b])$ such that, on an algebra of finite disjoint unions of half open intervals, we set v((c,d]) = f(c) - f(d), for $a < c < d \le b$, and then we pass to $\mathcal{B}((a,b])$ in a unique way (for details see, for example, [1, p. 21]).

Now, using Fubini, we have

$$\begin{split} &\int_{[a,a+\lambda]}[f(t)-f(a+\lambda)][1-g(t)]d\mu(t)\\ &=\int_{[a,a+\lambda]}\left[\int_{(t,a+\lambda]}dv(x)\right][1-g(t)]d\mu(t) = \int_{(a,a+\lambda)}\left[\int_{[a,x)}(1-g(t))d\mu(t)\right]dv(x). \end{split}$$

Similarly,

$$\int_{(a+\lambda,b]}[f(a+\lambda)-f(t)]g(t)\mu(t)=\int_{(a+\lambda,b]}\left[\int_{[x,b]}g(t)d\mu(t)\right]d\nu(x).$$

This means that (2.3) is in fact

$$\int_{[a,a+\lambda]} f(t)d\mu(t) - \int_{[a,b]} f(t)g(t)d\mu(t)
= \int_{(a,a+\lambda)} \left[\int_{[a,x)} (1-g(t))d\mu(t) \right] dv(x) + \int_{(a+\lambda,b)} \left[\int_{[x,b]} g(t)d\mu(t) \right] dv(x), \quad (2.4)$$

concluding (2.1) under assumptions (2.2).

The previous conditions are also necessary. In fact, if x is any element of [a,b], then let f be the function defined by

$$f(t) = \begin{cases} 1, & t < x; \\ 0, & t \geqslant x. \end{cases}$$

Using inequality (1.6) from Theorem 1.5 we obtain

$$\int_{[a,x)} g(t)d\mu(t) = \int_{[a,b]} f(t)g(t)d\mu(t) \leqslant \int_{[a,a+\lambda]} f(t)d\mu(t)
= \begin{cases} \mu([a,x)), & x \in [a,a+\lambda]; \\ \mu([a,a+\lambda]), & x \in (a+\lambda,b]. \end{cases}$$
(2.5)

If $x \in (a + \lambda, b]$ then $\mu([a, x)) \ge \mu([a, a + \lambda])$, from (2.5), we have

$$\int_{[a,x)} g(t)d\mu(t) \leqslant \mu([a,x)), \quad \text{for every } x \in [a,b].$$

Also, if $x \in (a+\lambda,b]$, from (2.5) we have $\int_{[a,x)} g(t) d\mu(t) \leq \mu([a,a+\lambda]) = \int_{[a,b]} g(t) d\mu(t)$, concluding

$$\int_{[x,b]} g(t)d\mu(t) \geqslant 0, \quad \text{for every } x \in (a+\lambda,b].$$

Finally, if $x \in [a, a + \lambda]$, then

$$\int_{[x,b]} g(t)d\mu(t) = \int_{[a,b]} g(t)d\mu(t) - \int_{[a,x)} g(t)d\mu(t)$$

$$\geqslant \mu([a,a+\lambda]) - \mu([a,x)) = \mu([x,a+\lambda]) \geqslant 0,$$

concluding

$$\int_{[x,b]} g(t)d\mu(t) \geqslant 0, \quad \text{for every } x \in [a,b].$$

(b) The proof of this part is similar to the proof of (a)-part so we omit the details. \Box

2.2. Sufficient and necessary conditions for reversed Steffensen's inequality

THEOREM 2.2. Let μ be a finite, positive measure on $\mathscr{B}(I)$, $g:[a,b] \to \mathbb{R}$ $([a,b] \subseteq I, I \text{ is an interval in } \mathbb{R})$ be a μ -integrable function, and $a + \lambda \in I$ where

$$\mu([a, a + \lambda]) = \int_{[a,b]} g(t)d\mu(t),$$
 (2.6)

for $\lambda \geqslant 0$, and

$$-\mu([a+\lambda,a]) = \int_{[a,b]} g(t)d\mu(t),$$

for $\lambda < 0$.

Then, for $\lambda \geqslant 0$,

$$\int_{[a,a+\lambda]} f(t)d\mu(t) \leqslant \int_{[a,b]} f(t)g(t)d\mu(t); \tag{2.7}$$

and for $\lambda < 0$,

$$-\int_{[a+\lambda,a]} f(t)d\mu(t) \leqslant \int_{[a,b]} f(t)g(t)d\mu(t); \tag{2.8}$$

for every nonincreasing, right continuous function $f: I \to \mathbb{R}$ if and only if either

$$\int_{[a,x)} g(t)d\mu(t) \geqslant \mu([a,x)), \text{ for } x \in [a,a+\lambda] \text{ and } \int_{[x,b]} g(t)d\mu(t) \leqslant 0, \text{ for } x \in (a+\lambda,b],$$
(2.9)

where $0 \le \lambda \le b - a$;

or

$$\int_{[a,x)} g(t)d\mu(t) \geqslant \mu([a,x)), \quad for \ x \in [a,b],$$
(2.10)

where $\lambda > b - a$;

or

$$\int_{[x,b]} g(t)d\mu(t) \leqslant 0, \quad \text{for } x \in [a,b], \tag{2.11}$$

where $\lambda < 0$.

Proof. Necessity part. Putting

$$f(t) = \begin{cases} 1, & t < x; \\ 0, & t \geqslant x \end{cases}$$

in (2.7) we get (2.9), (2.10) and (2.11) for choices $\lambda \in [0, b-a]$, $\lambda \in (b-a, +\infty)$, and $\lambda \in (-\infty, 0)$, respectively.

Sufficiency part. Let $\lambda \in [0, b-a]$. Then from (2.4) we have

$$\begin{split} &\int_{[a,a+\lambda]} f(t) d\mu(t) - \int_{[a,b]} f(t) g(t) d\mu(t) \\ &= \int_{(a,a+\lambda)} \left[\int_{[a,x)} (1-g(t)) d\mu(t) \right] dv(x) + \int_{(a+\lambda,b]} \left[\int_{[x,b]} g(t) d\mu(t) \right] dv(x) \leqslant 0, \end{split}$$

where v is a measure defined on $\mathcal{B}((a,b])$, with v((c,d]) = f(c) - f(d), for c < d, $c,d \in I$.

If $\lambda \in (b-a, +\infty)$ then

$$\begin{split} &\int_{[a,a+\lambda]} f(t) d\mu(t) - \int_{[a,b]} f(t) g(t) d\mu(t) = \int_{[a,b]} f(t) (1-g(t)) d\mu(t) + \int_{(b,a+\lambda]} f(t) d\mu(t) \\ &= \int_{[a,b]} (f(t)-f(b)) (1-g(t)) d\mu(t) + \int_{(b,a+\lambda]} (f(t)-f(b)) d\mu(t) \\ &= \int_{[a,b]} \int_{[a,x)} (1-g(t)) d\mu(t) dv(x) - \int_{(b,a+\lambda]} \int_{[x,a+\lambda]} d\mu(t) dv(x) \\ &= \int_{[a,b]} \left(\mu([a,x)) - \int_{[a,x)} g(t) d\mu(t) \right) dv(x) - \int_{(b,a+\lambda]} \mu([x,a+\lambda]) dv(x) \leqslant 0. \end{split}$$

If $\lambda \in (-\infty, 0)$ then

$$\begin{split} &-\int_{[a+\lambda,a]} f(t) d\mu(t) - \int_{[a,b]} f(t) g(t) d\mu(t) \\ &= \int_{[a,b]} (f(a) - f(t)) g(t) d\mu(t) + \int_{[a+\lambda,a]} (f(a) - f(t)) d\mu(t) \\ &= \int_{[a,b]} \int_{[x,b]} g(t) d\mu(t) d\nu(x) - \int_{[a+\lambda,a]} \mu([a+\lambda,x]) d\nu(x) \leqslant 0. \quad \Box \end{split}$$

THEOREM 2.3. Let μ be a finite, positive measure on $\mathcal{B}(I)$, $g:[a,b] \to \mathbb{R}$ ($[a,b] \subseteq I$, I is an interval in \mathbb{R}) be a μ -integrable function, and $b - \lambda \in I$ where

$$\mu((b-\lambda,b]) = \int_{[a,b]} g(t)d\mu(t),$$

for $\lambda \geqslant 0$, and

$$-\mu([b,b-\lambda)) = \int_{[a,b]} g(t)d\mu(t),$$

for $\lambda < 0$.

Then, for $\lambda \geqslant 0$

$$\int_{(b-\lambda,b]} f(t)d\mu(t) \geqslant \int_{[a,b]} f(t)g(t)d\mu(t); \tag{2.12}$$

and for $\lambda < 0$,

$$-\int_{[b,b-\lambda)} f(t)d\mu(t) \geqslant \int_{[a,b]} f(t)g(t)d\mu(t); \tag{2.13}$$

for every nonincreasing, right continuous function $f: I \to \mathbb{R}$ if and only if either

$$\int\limits_{[a,x)} g(t)d\mu(t) \leqslant 0, \ for \ x \in [a,b-\lambda] \ \ and \ \int\limits_{[x,b]} g(t)d\mu(t) \geqslant \mu([x,b]), \ for \ x \in (b-\lambda,b],$$

where $0 \le \lambda \le b - a$;

or

$$\int_{[x,b]} g(t)d\mu(t) \geqslant \mu([x,b]), \quad for \ x \in [a,b]$$

where $\lambda > b - a$;

or

$$\int_{[a,x)} g(t)d\mu(t) \leqslant 0, \quad for \ x \in [a,b]$$

where $\lambda < 0$.

Proof. Similar to the proof of Theorem 2.2. \Box

THEOREM 2.4. Let μ be a finite, positive measure on $\mathcal{B}(I)$, $g:[a,b] \to \mathbb{R}$ be a μ -integrable function for which there exists $c \in [a,b]$ such that $g(x) \ge 1$ for $x \in [a,c]$ and $g(x) \le 0$ for $x \in (c,b]$. Then (2.7) (resp. (2.8)) for $\lambda \ge 0$ (resp. $\lambda < 0$) is valid for every nonincreasing function $f:I \to \mathbb{R}$ provided that $[a,b] \subseteq I$ and $a + \lambda \in I$.

Proof. Let $\lambda \in [0, b-a]$. Suppose that $c \leq a + \lambda$. Then it is obvious that

$$\int_{[a,x)} g(t) d\mu(t) \geqslant \mu([a,x)), \text{for } x \in [a,c] \quad \text{ and } \quad \int_{[x,b]} g(t) d\mu(t) \leqslant 0, \text{for } x \in (a+\lambda,b].$$

Suppose that for some $x_0 \in (c, a + \lambda]$ we have $\int_{[a,x_0)} g(t) d\mu(t) < \mu([a,x_0))$. Since $\int_{[x_0,b]} g(t) d\mu(t) \le 0$, it follows $\mu([a,a+\lambda]) = \int_{[a,b]} g(t) d\mu(t) < \mu([a,x_0))$, hence $a+\lambda < x_0$, what is, evidently, a contradiction. Analogously, in the case $c > a + \lambda$ we can also prove that (2.9) holds.

Let $\lambda \in (b-a,\infty)$. Then $\int_{[a,x)} g(t) d\mu(t) \geqslant \mu([a,x))$ for $x \in [a,c]$. For $x \in (c,b]$ we have

$$\int_{[a,x)} g(t)d\mu(t) = \int_{[a,b]} g(t)d\mu(t) - \int_{[x,b]} g(t)d\mu(t)$$

$$\geqslant \int_{[a,b]} g(t)d\mu(t) = \mu([a,a+\lambda]) \geqslant \mu([a,x)),$$

and condition (2.10) is fulfilled.

If $\lambda \in (-\infty, 0)$ then if $x \in [a, c]$

$$\int\limits_{[x,b]} g(t) d\mu(t) = \int\limits_{[a,b]} g(t) d\mu(t) - \int\limits_{[a,x)} g(t) d\mu(t) = -\mu([a+\lambda,a]) - \mu([a,x)) \leqslant 0;$$

if $x \in (c,b]$ then $\int_{[x,b]} g(t) d\mu(t) \leq 0$ so (2.11) is again valid. \square

Similar to Theorem 2.4 we can prove the next theorem.

THEOREM 2.5. Let μ be a finite, positive measure on $\mathcal{B}(I)$, $g:[a,b] \to \mathbb{R}$ be a μ -integrable function for which there exists $c \in [a,b]$ such that $g(x) \leq 0$ for $x \in [a,c]$ and $g(x) \geq 1$ for $x \in (c,b]$. Then (2.12) (resp. (2.13)) for $\lambda \geq 0$ (resp. $\lambda < 0$) is valid for every nonincreasing function $f:I \to \mathbb{R}$ provided that $[a,b] \subseteq I$ and $b-\lambda \in I$.

3. Some applications and concluding remarks

REMARK 3.1. Under assumption (1.5) and from (1.6) it follows that

$$\mathfrak{L}(f) = \int\limits_{[a,b]} f(t)g(t)d\mu(t) - \int\limits_{[a,a+\lambda]} f(t)d\mu(t)$$

is a linear functional, acting on μ -integrable functions, positive for nondecreasing functions f on [a,b]. This fact, combined with results from paper [7], is used in paper [8] in order to produce exponentially convex functions and even further, some new Cauchy means. The same construction can be applied here, but under modified conditions on the function g and measure μ . For example, if (2.6) and (2.11) are valid then

$$\mathfrak{M}(f) = \int_{[a,a+\lambda]} f(t)d\mu(t) - \int_{[a,b]} f(t)g(t)d\mu(t).$$

is a linear functional which is positive for nondecreasing functions f on [a,b]. Using similar construction as in [7] we could produce exponential convexity and Cauchy means.

REMARK 3.2. It is obvious that the choice of measure μ in the main section covers some known results: Lebesgue measure gives us the classic Steffensen inequality, counting measure gives us Jensen-Steffensen's inequality (even with relaxed conditions, see [6]), and Lebesgue-Stieltjes measure gives us results for Steffensen's inequality from [9].

Acknowledgement. This work has been fully supported by Croatian Science Foundation under the project 5435.

REFERENCES

- [1] P. BILLINGSLEY, *Probability and Measure*, 2nd edn, John Wiley & Sons, 1986.
- [2] J. C. EVARD, H. GAUCHMAN, Steffensen type inequalites over general measure spaces, Analysis 17 (2–3) (1997), 301–322.
- [3] A. M. FINK, Steffensen type inequalities, Rocky Mountain J. Math. 12, 4 (1982), 785–793.
- [4] H. GAUCHMAN, A Steffensen type inequality, J. Inequal. Pure Appl. Math. 1, 1 (2000), Article 3.
- [5] H. GAUCHMAN, On further generalization of Steffensen's inequality, J. Inequal. Appl. 5, 5 (2000), 505–513.
- [6] J. JAKŠETIĆ, J. PEČARIĆ, Steffensen's means, J. Math. Inequal. 2, 4 (2008), 487-498.
- [7] J. JAKŠETIĆ, J. PEČARIĆ, Exponential convexity method, J. Convex Anal. 20, 1 (2013), 181–197.
- [8] J. JAKŠETIĆ, J. PEČARIĆ, Steffensen's inequality for positive measures, Math. Inequal. Appl., 18, 2 (2015), 1159–1170.
- [9] Z. LIU, More on Steffensen type inequalities, Soochow J. Math. 31 (3) (2005), 429–439.
- [10] G. MILOVANOVIĆ, J. PEČARIĆ, *The Steffensen inequality for convex function of order n*, Univ. Beograd Publ. Elektrotehn. Fak. Ser. Mat. Fiz. 634–677 (1979), 97–100.
- [11] D. S. MITRINOVIĆ, The Steffensen inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. 247–273 (1969), 1–14.
- [12] J. E. PEČARIĆ, Inverse of Steffensen's inequality, Glas. Mat. Ser. III 17 (37) (1982), 265–270.

- [13] J. E. PEČARIĆ, F. PROSCHAN, Y. L. TONG, Convex functions, partial orderings, and statistical applications, Mathematics in science and engineering 187, Academic Press Inc., Boston, 1992.
- [14] J. PEČARIĆ, K. SMOLJAK KALAMIR, S. VAROŠANEC, Steffensen's and Related Inequalities, A Comprehensive Survey and Recent Advances, Monographs in inequalities 7, Element, Zagreb, 2014.
- [15] J. F. STEFFENSEN, On certain inequalities between mean values and their application to actuarial problems, Skand. Aktuarietids. (1918), 82–97.

(Received November 17, 2014)

Julije Jakšetić Faculty of Mechanical Engineering and Naval Architecture University of Zagreb Ivana Lučića 5, 10000 Zagreb, Croatia e-mail: julije@math.hr

> Josip Pečarić Faculty of Textile Technology University of Zagreb Prilaz baruna Filipovića 28a, 10000 Zagreb, Croatia e-mail: pecaric@element.hr

Ksenija Smoljak Kalamir Faculty of Textile Technology University of Zagreb Prilaz baruna Filipovića 28a, 10000 Zagreb, Croatia, e-mail: ksmoljak@ttf.hr